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Year 3 Maths
The objectives we are working on are:

· To recall and use multiplication and division facts for the 3, 4 and 8 multiplication tables.
This week is Times Tables week. Just a reminder, that by the end of Year 4, you should know all your time tables! No pressure! We’ve covered this in class, so this should be a great way to show what you can recall and how quickly and accurately you can do this.

All the lessons can be found on https://whiterosemaths.com/homelearning/year-3/ 
This week’s learning is dated 11th May. 
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Monday Task 1. Multiplying by 4 and 8. Watch this first https://vimeo.com/415086682
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Monday Task 2 
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Monday Task 3 
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Monday Task 4.
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Monday Task 5.Multiplying by 8.
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Monday Task 6. Multiplying by 8.
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Monday Task 7 Multiplying by 8.
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Monday Task 8. Multiplying by 8
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Tuesday Task 1.Multiply 2 digits by 1 digit. Watch this: https://vimeo.com/415086842
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Tuesday Task 2. Multiply 2 digits by 1 digit.
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Tuesday Task 3. Multiply 2 digits by 1 digit.
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Tuesday Task 4. Multiply 2 digits by 1 digit.
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Wednesday Task 1. Divide 2-digits by 1-digit. Watch this:  https://vimeo.com/415087020
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Wednesday Task 2. 
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Wednesday Task 3.
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 Thursday: Task 1. Word Problems. Watch the video first: https://vimeo.com/415087218
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Thursday Task 2. Word Problems 2.
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Friday Task 1. 
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Friday Task 2.
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@ complete the number sentences.

a) 6x4=

b)4x3=

]

d) 4 x

e 0x4=

f) 4x9=

) 2
h8:4=
=7x4 i) 0+4=
48 D
K
) 1x4=
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@ whot muttiplication and division statements does the
array represent?

Complete the statements.
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o Complete the number sentences.

a)2x4=

ax4=

8x4=

b) 8=4x

16=4x

32=4x

What patterns do you notice?

93x4=

3x8=

3x12=
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° Write <, > or = to compare the statements.

a) 48+|ZOA d)4+4©4x4
b) SSOAD+4 e)lede|
Q) |se4©4x4 f)4x2©32+4

© A poper dipis 4 cm long.

4cm

How long are 6 of these paper clips?
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o The pictogram shows the animals a group of children have

as pets.
Complete the pictogram.
Animal Pictogram Number of animals
« 0000
dog 28
i | Q0000
mouse | @
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Some of the
numbers in the 4
times-table are even, but
not all of them.

All numbers
in the 4 times-table
are even.

Who is correct?

How do you know? Talk about it with a partner.
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@ tow many are there in total?

SIS )

R o B o

x =
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@ Here is an array made up of triangles.

AAAAAAAA
AAAAAAAA
AAAAAAAA
AAAAAAAA
AAAAAAAA
AAAAAAAA
AAAAAAAA
AAAAAAAA

@) What multiplication sentence can you see?

x =

b) What division sentence can you see?
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© complete the number tracks.

a)

b)

0

8

16

24

80
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° Complete the calculations.

Try to do the calculations in your head.

@) 6x8= e 72:8=
b) 8 x =56 f) +11=8
9 10x8= 9)

d) =8x4 h) 8x1=
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° What multiplication can you see?

OOOOOOOO

© complete the muitiplications.

a)2x8= b) 8=8x
4x8= 16=8x
8x8= 32=8x

What patterns do you notice?
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@ o Amir drows 7 jumps of 8 on a number line.

‘What number does Amir end on?

Explain how you worked it out.

b) This time, Amir makes 7 jumps of 8, but starts from 1

‘What number does Amir end on this time?

Explain how you know.
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© 00t can be hired on a lake. Boats for Hire

Large boat:

There are 5 large boats and
8 small boats on the lake.

Each boat is full.

How many people are on the lake?
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@ *ut the numbers into the sorting diagram.

2 4 16 32 48 36 12 6

In the In the

2 times-table 4 times-table

In the
8 times-table

Are any of the parts empty? Why?

Talk about it with a partner.
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@ here are 23 morbles in a jar.

There are 5 jars.
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How many marbles are there in total?

5x 3 ones =

5x 2tens =

5x23=

There are marbles in total.
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o Work out 4 x 15

.
© 00000 -
© |oeo00 ,
© |ooo00
© 00000 :-s-
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© complete the muttiplications.

@) 4x24=

b)3x17=

€ 3x25=

d)34x4=

o Complete the column multiplications.

IS

00 0000
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© work out the muttiplications.

@) 25x%5 ) 5x26
T o
2 s
x 5
b)35x6 d) 4x36
o
3
x 6
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° Tommy works out 37 x 2

w
sv o

What mistake has Tommy made? Work out the correct answer.

@ Find the missing numbers.
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@ tere are some digitcards. | 1 || 2 (|3 || 4

) Use the digit cards to create a multiplication
and work out the answer.

x =

b) Work with @ partner to find calculations that have:
 an odd product
© an even product
 an exchange in the ones column

© an exchange in the ones and tens columns.
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o Rosie has 56 pencils.

«a) Draw base 10 to represent the pencils.

Rosie shares the 56 pencils equally between 4 pots.
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b) Draw base 10 on the place value grid to share the pencils.

<) How many pencils are in each pot?

d) Did you have to make an exchange?
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© Evo hos this money.

She wants to share the money equally between 3 people.

) Use the place value chart to show how Eva can share
the money.

b) How much money does each person get?
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© oivide 72y 3
0000000 00

Use the place value counters to help you.

72+3=





image28.png
© Fosic and Tommy are working out 52 + 4
They both use a part-whole model.

Rosie Tommy

‘) Whose part-whole model will help them with the division?

How do you know?
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o Use the part-whole models to complete the divisions.

a) 48
30:3=
18:3=
48:3=
b) 96 + ) 65:5=

d)75+3=
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@ ~isho has some fruit.

L X N
6060606660606

‘Complete the sentences to describe the fruit.

There are| | apples.

There are strawberries.

There are| | times as many strawberries as apples.
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@ Huan is comparing 2 pieces of ribbon.
s (o

‘Complete the sentences to describe the ribbon.

The spotty ribbon measures

The plain ribbon measures

The plain ribbon is| | times as long as the spotty ribbon.
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© Motch the bar models to the statements.

Write the missing statement.

girls [
boys [Tl

There are 4 times as

many boys as girls.

girls [
boys [T

There are 3 times as

many boys as girls.

girls [
boys [T
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o There are 3 purple balloons.
There are 4 times as many pink balloons.

Complete the bar model to show how many pink balloons
there are.

purple [ 3

pink 3[3[3]3
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© e red rope is 8 m long.

The blue rope is 5 times as long.

«a) Label and complete the bar model.

b) How long is the blue rope?

The blue rope is

m long.
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© Fon hos 5 bananas.
Esther has 6 times as many bananas as Ron.

Draw a bar model to work out how many bananas Esther
has got.

Esther has got| | bananas.
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o Complete the sentences.

45is times greater than 5
x5=45

Sis times smaller than 45

45+:5=
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@ e children are weighing out flour.

B c D E

Use the clues to work out which child used which scales.

A

® Eva has twice as much as Alex.
® Dexter has 9 times as much as Alex.
® Annie has 3 times as much as Eva.

© Tommy has twice as much as Eva and 4 times as
much as Alex.

Scales
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